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1. @ &R dEn & figia a1 wfdores fea-

(A) dfies® (B) gk
(C) uraeiia (D) gead
SWR-(B)

T §RT ¥en & Rigla &1 ufaures siger 71 e el

2. P P ARY A, ANl @A AR g s B

wfshar 3

(A) SRoT (B) HageT

(C) g (D) UIENHRIT
SIR—(A)

BRI Pl ARY B, SN A 3R Fraffa a1 & ufhan
P IR P Bl

3. fIR o9 o< &1 SUE -
(A) e § B
(B) ¥ @1 Ffegol fafy
(C) s 6t gvrgfir
(D) RO FR H BH & T
JR—(C)

et @1 a1l B 1% a1 v 9@ wRoT e I w9
A GROT B GHAT B T BN TEAR qTE, TR F 918
fasm, ure & gIRER anfe fawfa &9 o= & Su™ &

4. YT W VPR T

(A) PR (B) T
(C) R (D) Femgf
SaR-(B)

T IR AR & SfTiid 36 UHR & HI &
S o T ®, 9 39, STIG-IAIE, S, 3meEd,
DIE, 2Me, YOI A | UTeared Aifecd & Siaid St |aw
A ¥, I BUGE, g, W, P G GOl B A

%0 ¥ Ut 3 q AET T B, 6B By gAY HA; O
ST, HGHIAI, T TAT ORI e Pl A 07 &
T el FHe S Rl

5. WX ARk P I AR Bl b g

(A) T (B) 31N
(C) B (D) fi=
FIR-(B)

BRI, TN ARP b qTe] FATR D 75 g

6. IR gd M 9 M Y YHR F WA F [l B
g, S Ped -

(A) THRTHD TRIETOT IR

(B) AHRTHS ARIET0T RRAHIROT
(C) Ufrefor TRIfaRYT
(D) T

STR—(B)

AT (Transfer) 3TAAR A & UHR & 84T 5

() THRTHS U0 HHHOT

(i) THRTHS HFAETT HHHT

I gd 919 9 IGHa ¢ THR & e | FEradl FRA o,
A S APRIHD UINET0T N1 (FhH1) BEd Bl

7. W g€ 99 P TR IEA A GEERO G D
BT B PEA -

(A) T (B) Hfa
(©) fafa (D) &=
IFAR—(C)

Wl g2 a1a 1 FIROT I AT GAFART BRI B SR
3 fawfa wed B

8. T F IFAR, 90-100 Ay F1 I A AT
I3

(A) He g (B) ST gfe
(C) I gfg (D) &ffor g
Fa<-(B)

1)



T A gfgdta Marer &1 ge g7 991 S FrEfaRaa

T

gfgater (1.Q.) = mﬁ%i; 100

Ifgafes & 7 o Saa@ -

gigafes & W= ek

140 a1 399 fdH EIRRINICH

120 & 139 9% If o

110 & 119 9% S

80 ¥ 109 T® A

80 | 89 qH "

70 91 79 P AHia H@e gig

60 31 69 TP He gig

20 ¥ 59 & e g

20 1 9] A e gfg

9. e A <ag v Rigia ¥ araca 3 wam fasan-
(A) el ™ (B) ¥ W
(€) §X W (D) g ®

JIR~(B)

A A e ufafar Rigla @ urgaia 5 4@ o w®
g fanl aradiia & TR faf¥= yeR @ amed S
o) TR o wf¥ieror, fRien qerm TR uR el €, 9
TP DI TP bl el 7 2l

10. wra Afpa ¥ -afie e o f= §

Hgea faar an?

(A) BHfE™ (B) gt

(C) @iferTasi (D) WIS
ITR—(D)

AT ARhed & AF-IRTd e B Wias 3 Agd faan
o1l RIS & ATAR-'STH & 9T 3% Ry A <iffras
Forl faerH Yedt R, i Al <iftie faer @) sravenai
A YR fawhia gt 31 wiae & 39 g o w9-
dffies fae™T & Rigia w-1 smar 81 wiae o aRha

¥ a2l
11. "AIfasE 3 v saETenen & fHas wnfua faar on?

(A) S=Y, 92 (B) R wias
(C) urqeirq (D) diesa=
JAR—(A)

Sy, gc (Wilhelm Wundt) 1 9 1879 # faza &1 yem
ANASTE TARTIMC & RTUAT &l SHdh! I8 TATIT

S &% foafom faeafdenera & zenfia g8 ol wka A
Ty AN TRANTRITET Bl AT et favafdenea
99 1916 ¥ Sf. TA.TA. A 7 @ ol

12. IR<Tee HAIfASTE @) SMeR¥ren e <) of?

(A) WS ST (B) g goifR
(C) TSR Bfa (D) & afaw
SAR-(B)

IRCTeT AIASTT B MR faw qeffae o7 <= off)

o 1 sRa # dfcd 3 WagRATE Bl AR 6,
PRIG-BRIG S THT THAT H IRSTee FAIASI DI AT
B TS| IRTTeT THdl DI I Haw 9fFR 9 1912 8. A
o o1l PIgeR T DIIH 39 Wl & Tg-A¥AIE 2
Hs-ge I g Ielee FAIfAs= & g ISt F9si St
H|

13. < Rigia = A ey <dfda 32

(A) 3tferm (B) 3rf¥mRoy
(C) wfr (D) T
FaR—(C)
dee Rrgia |fa 3 wdfta 2l

14. &= frgia = A 5w o o1 dFEm 3?2
(A) FAERAI b1
(B) A== &1
(C) AfIery®l &I
(D) IRTeeaTe A B
SaR—(D)

&= Rigid ¥ "Rereearfeal & e B 39 Rigia &
TRrTEH AfdT (Lewin) ¥ far o1l § IRcTeears) A=1ds®
9| gafery 591 Rigia ol IReTecard] RIgid (Gestalt theory)
H Fgd B

15. wifewn e &1 waw = A fad e g s
??

(A) afha (B) Bfa
©) gf& (D) s ¥ererar
FTR—(C)

wifean 9t &1 v gfg A9e 2g e S g1 ArTgR |
g wifedr 7 9 1955 # ufrg wifean 98t e
Fhg-uIeor B IR a1l wifean 9ed &1 van qedi B
gf& o1 B S Iy sria Avs Ao B

16. gia & figia = A faa aremn oxa 32

(A) I @ TP
(B) 31ferT # ifRom &t fiam
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(OR: UCZALE
(D) fHeiRi @1 #=ifasm
JIR(D)
B &1 Rrgia feeRl & w=ifsm @) samren o= gl
1.7, g 7 fPeRTERen & Wy &l AR YARad &
MR TR B BT T4 a1l I U MRS Fdsiie
| gfd & Rrgla @ g Af¥en<on gavTae 2l
17. EgiR® emaisi A 9g ANy R 9Rad o F
yaford T BT UROME g g, S 1 P § 2

(A) 3tferm (B) arf¥sRom
(C) arf¥gRy (D) 31f¥ersan
TAR—~(A)

ARG &aaren § g AreT Y gRad St fo veferd
T BT IR BIAT B, S I hed Tl

18. <=M f&w gfy & figia o Rww g2
(A) ufaeet g
(B) g IR Rl
(C) FrermiE o Rigia

(D) Telgs a1 fhcdrgse gl

FR—(C)

s, e & figia 9fe & Rigia o R
Rrernrs 3 Afihar & eaR R AFMRIS ewamst & ©: qr
o g7t 8—(i) e (i) AR &9 (iii) sroamd =
(iv) T aROT (v) Ff if¥reras (vi) =l

19. 3@ 9§ & FAR N AERE Y T a9 B IHH
eafer fah 37
(A) 80
(©) 110
SR—~(D)

& ¢ arafas oy =8 av
HAARI® MY = 10 99

WJ_H; P 3y
 ardfad oMy

=19X100
8

(B) 100
(D) 125

%100

=125

20. ¥ b1 Bl Rigid 36 AR & ama R &
‘IS WA HITHS FagIR IR e g2
(A) w=g-or Rigia
(B) Erguidafie Rygia

(C) afgraan Rrgia
(D) arf¥mRor Rigid
JAR(A)
HAT Bl S=F-olT Bl Rigid 39 feR @ g9ar § &

"HIHAS T HAHD FqgR IR SR gl

21. & =01 A1 AETHAT ¥ BhET TS U SAH g
qren AiAf® T @ Pgerrd gl

(A= (B) guar
(C) fa=m (D) TG
AR—(B)

=it 3281 I STaTIHdT § BHIAC TS UR SHH S~ &
qrel |iafTe TG FUsT B Bl
22. Pt &1 Rigia B 3 A e Qem @ wdfea R7?
(A) w1 fawr (B) i fasr
(C) Af® fawra (D) TR famr
JIR—(C)

BT Bl Rigid A faerg @ W6fdd Bl s=ib i &
P B M IR I=1d 9914 gY I8 Fel & gz o
e faera 11 ==l 3 7@l afed 9 RN H YR B 2
o & AR, ‘g 6 Afae e |1 aRoil | graw
NGRS N

23. faparaoE ferm @1 yea feas fear on?

(A) B (B) oifFsIs®
(€) R R (D) dfes
TIR—(C)

SPFARNRTT S &1 vy sMRe aa= e €U,
R = e ol

24. W9 MG IRIR &6 TH 9F P {7 70 gferor 31 iR
TR A A o R, @ 9 P §-

(A) Ted SFROT (B) &ferst sfawor
(C) fguf¥des saror (D) SIRIKH § | BIs T8l
FIR-(C)

S 7 IR & TP AT B AT U ufderor @ iR
TR WM H g S g, @ 39 fgmf¥de staver wEa 2l
25. iU gu wretiol & g A S W<ie agen wad AfUD
IR AR, SN Eokd

(A) 9gaH (B) HegH™
(C) wegid (D) A& fage™
TAR—(A)

QT g uTiil & | | S UTiie agen |Had 31d 9%
AT 8, S I8P’ bed ol
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Igad (ARSH-—mode)-TRTHT Tl H 5 w7 i B
JMgRT Fa9 P &1, I gD Fed ol

26. fhamRg@ sggpen Rigia &1 wfdues A fan

ol
(A) UTacita (B) &=
(C) oiieTs® (D) ®IgeR
BTR-(B)

foramRIa srger Rigia & ufiure Rk 1 fa el

27. e dg1 = A fFw figia 9 wafa §?
(A) IR ™ Rigia
(B) IR R
(O REEZNEARSE NI AR EAN
(D) faera &1 F=-amTTS Rigid
JAR(A)

T IS AHIID AT Rigia’ & wefda Bl wafcha
faewra @ @ sead 931 g1 ufauifed amiTes
Iferm Rigiad & MR R @ TS Bl 39 figid &
UfraTe® 31 Td dTecd 7 U YRID (AT oAf
TS qTfordt Sacudic’ § aafkpead faera 8§ gaiavefia
gRRefa & 78w @l wef¥a foar Rl
28. WHRAS g &1 uad faam o

(A) fom-arge= = (B) ¥ A

(C) THA A (D) R 92 3
JAR—~(A)

AUH ARG 1Y T &l TAN Tahs fam 7 o o
3R U1 #d Tahe fran & arafds oy ¥ gfg & wer-
w1 wEfRIE g # At gfg Bl B

29, Pt § ¥ P N w1 Frm T 32

(A) TRl & o (B) 9919 @1 e
(C) wva @1 | (D) 1+ BT e
FIR—(B)

g B I WRe B w8 R e ® 3 e
TR 6 QMR TR e & < ) &1 ufoares fear-
() IR @1 | (i) 1= & FEE (i) g @t
R

30. foa™ 7= wu A fhad swaas ¥ fog wm o §?
(A) 1 fagra (B) I fasra
(C) ST fasy (D) AraTfoTd faebr
FAR—~(C)
TSl 2 w4 A [ b forg S o gl

Raw fFarft Anasnfe famsr 9 3= @iy e gy
qra-AfasT et wifver) Rigia ufqufea fee B

31, we-fem & vEgfd T8 T

(A) fs=méa (B) #Hivewdt
(C) Sspreft (D) 3IFHHT Jrgae
FIR—(D)

BT STgae WT-Rierr & ggfa el gl fFswmeT,
HUSHN), Splell 3Mfe wr-Reror & ggioar Bl

32. ‘9Ie o WRfAe fRien Swat wgae § & we ag

AEA -

(A) HIvZaN] B (B) WETHT iR

(C) widal &t (D) foefe e @
SIR—(B)

HEIHT el &1 791 o T ' Ireid @ aRivs e saa!
HAQGHTST H <1 1|

33. AR $ Iy SwRs TE ¥

(A) AT oIl (B) = moTren
(C) SreaTefcr worredl (D) FeTf=1 otedt
SR—(D)

PRI TOTTeR! @R oT-fR1eTo7 & forg Sugeh &1 Bl ST
ToTTen, TR ToTelt, JTera iy womel JNf o TN SeR -
fareror % forg fopam < R

34. ‘INE P’ 9fE®! B YHEH i W gl 27

(A) TTRE (B) fAsigz
(C) IR (D) TS
FAR—(B)

‘3G wrafta ufe o uere foiyR & g Bl 396
TEd IR0 AR UHEE’ 7 3 Jolrs, 1881 H
RY a1 ol a7 wRdg-g @l wifgfcas uf¥e 2

35. fepra @ I -

(A) r@rTae (B) BT SI@
(C) <ruferan (D) a9 <141
ITX—(D)

Taufa fasra g1 fd game I snfedra @) = B
‘IERTae vichadra @ va g, orre wafiar afos qgerg

SR Bl BEETd gud’ et @ a8, e
RIIIPIR HT &l
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36. R To-Rier o ure-do § STH BYN o B
(A) gI=IH & TTarq
(B) WREITAT W & G
(C) el ara & ygan
(D) 919 ara & Ul
JAR—(B)

o=t Ter-ReToT P Ure-AISTT § SeTT B, UK U
& T I B

'ITEE T g 2l VB IR 9T T vreg 2l TRy Are
A oRdl, BRA, g, el anfa wwiel & e e
Wed B 37 Tea] Bl ST 6] Hgl STl B

41. ‘afvar &1 AW B el A gan B2

(A) StTa (B) &
(©) TP (D) =gy
II—(B)

‘T’ @ TN S b 1ed # g Bl

37. w= @1 Y W FA TG DA TS @it

g §?

(A) ITFIRITT (B) @&

(C) 5 (D) ferz-famfoy
TAR—(A)

I P 3 W FIA g AT TN BT AP D

IUH 2
38. Tear) P YMaNIRE Ry’ @ SdE’ & fog
"Hde REPR’ e a¥ wem faan mn?
(A)ET 1971 . 9 (B) A 1972 . ®
(C)w11973 5. 9 (D) 9| 1974 . §

TAR—(B)

¥ 1972 3. § Igafa vmar) Ry fima) @1 saeh’ &
g gFde R’ ueE R Tl fRTeR @ o=
TN -goad, AR, Yy, gaR anfal

42. ‘P’ fHae v R?

(A) fawg (B) Rra
©) (D) FRa
TR—(A)

‘e’ fawy @ i R RAw] & o= Taig I,
THewS, favawR, g%y, Sus, ashuifon snfal

43. ‘wrg 3 Afernt J T
W § T wRER 9
U P TAAPIR BN §?
(A) ST
(C) TR

SIR—~C)

IUYH Uk b IATNHR FEREN ¢l FERE Bl T30
(Y, w1, IE) BT AU AT gl D! AT FYIDS|
B BREr dichare @ o1 SrererT & srEntt 2w
F B T

(B) Y&
(D) &1g

39. ‘Ffaw’ i wga §?
(A) #i <fa Hrom
(B) Hi&1 &1 S8
(C) <1 ¥ fa=a=oT HRe aren
(D) G T 85
TTR—(A)

‘A MR IS A1 A T @ arel arer’ @ R
FEd B M T TGS B HAE Bel o gl Ry A
fremoT ox arel’,  FReR’ FEedl Bl I & 5256 Bl
Y’ ded B

40. ‘vIgE’ W= -
(A) TH (B) dg¥d
(C) qerst (D) T
STR~(D)

44. T ITTEE YA P ey A9 -
(A) AIEY @ Fo
(B) faamfor
(C) &To1 dTel BT ABIY
(D) 3Tl Td
IaR—(B)
AT RTeEs Yot b fde g At 81 el @
= YEEY B wifew @1 sfaer, SirRit germae,

IYREN, JORIEN 3|
45. F=fafaa 3 o+ o gfe ¥ d9-a1 -3 g8 77

(A) I, 99d (B) 9NTd, 99
(C) ¥¥rd, 949d (D) 9NTd, g9
FIR—(C)

T Bl ghe A Y wS-gH aR_a-a9d” 2l
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46. ‘IR ¥

(A)T, @ B3, 3
O = 9 (D)=, ©
ITR—(A)

', R B, S, S, W gEWR el Y, Y, |, 7

S &S B
47. ‘AR o T | e JEraR & w3k 3-

(A) ORIl BT 3T ST ot
(B) JTURTEN BT BRI I8

(C) STuRTER o UgEAT B ST

(D) 3ra=Teft &1 3ru+t ugaT fvarn
JFaR—(B)
AR B T W TS R w1 e ared sruRie @
BRI’ Bl

48. ‘TP IR FEl 9 B GE gl A & forw v

e -

(A) IR (B) Wb

(C) ety (D) TR
FaR—(C)

‘TP IR Fel 91 B eI JeAl’ aqradiE & oy U o
fireetyor’ gl

49. ‘Y&’ w eRw o g | fFw o | R?

(A) H=T (B) d=TH
(C) faryoy (D) b
JIAR—(C)

'YEEN W AR Bl gfte | TIRmor’ el # a7 B
W S1eraT [ Weal Bl faRiwa (o1, |1, deen, gk
anf}) ga™ arel T faRioeT’ FEgerd

50. ‘Ba A s Y’ I/ § P9 PRSP R?

(A) JUIgH (B) Hdy
(C) 3o (D) IS
FAI—(A)

(C) 51 + S
IFIR—(C)

(D) He< + A

AR B wR-faeeT HeT + S ¥ Ta o 9 R a1
ARAMFIE IR T AT AT S, ST KT AT T &
R3] A 2 N HER ) R | B R i | < O ]

52. ‘wfee’ o1 faudandt we -

(A) faR¥re (B) 3R
(C) argfte (D) =fie
FaR—(D)

FHfte’ o1 fausiaes e @i’ Bl Rre @ fAukiaeis
g ‘373’ B R

53. ‘@uc’ H1 Ag9d w9 3

(A) BIC (B) BRUYS
©) P (D) BusT
SAR—(D)

qqq HYR’ B B

54, ‘MU’ ¥ PE- IR B

(A) 3 (B) 3
©) = (D) i
FIR-(A)

Aofir # S U Rl RH + I = oiig g R
o T | T e T ¥ AW, |eEl,
oI, STt 3|

55. ‘dRI W gAY POR B ¥R A IR 907 WA
I 9} TG ST F B B B ARG AARRAR
31 B Uil ¥ HF-1 W R
(A) s <4
(B) W& 39
(C) 919 79
(D) 9R <4

SIR—(A)

‘B 9 s IR a1 § e $RG Bl 39 91 | Bd
¥ ¢ 3Tl B Y Bl T &b 31 H e BRS Bl
g, foraa fawfRe g 9 2l

51. ‘wRifd’ o1 wi-fame -

(A) 7eq + S (B) weT + $Sff

SR Hr URKAT 4 s 79 8, oI il ‘wig’ 2l

56. ‘#t TS TA R &, 9 w1 qH] gur|
T AR e o9, S TEe wa AR’
H BT ¥

(A) = (B) WRa1

(6)



(C) e
TAR—(A)

(D) R4

SUYh dre ufehal ‘el ] Bl Gl 9 Ugel Ud s
(fawsr) WfRRp 4 13-13 wr=AT¢ 81 2 SfR @) vd aeft (w9)
dfp H 11-11 A=Y B SR

SISt sl
N TS WA W 9, {19 F IR gur|
s me s sl 1 sl

T RgR a9, Sl SRe %A 9@R||

57. 9199 ¥F ¥
(A) #rg 3iR 3 7 <& Bl
(B) e 3R Hig 7 v& Bl
(C) AIg 3R frer m vz 2l
(D) #rg 3fR 3 7 <& 2
ITR(C)

‘HIE MR e T ¥R B IR 91ed g 7l A ardm W e
forT & Topaa & fauicpried s &l Sk’ a1 feil 3

3R | g<h &, A fovar v 9gaa MR gfeerT gl

58. 39 7=l A A HH-A1 v R ey A waw o A

3 ?

INEGIE (B) %H

(C) 9 (D) Py
TAI—(A)

= =PIy H N 3id | Fela’ ST

59. TRTERA (SFR) § DIH-A1 9AE 7

(A) TYBY (B) g5
(C) Tgaf? (D) BHIRY
IT—(D)

ERTEN (S) W FHARY T Bl IR § Qe
715 (AR Ud 7R FRIoor § Wit ST & for wyeh B g
fRovage FHERY F9E gl S 99 b aFl Ug
faRiyoT B 2

60. ‘AN’ T W HIF-1 U g7

(A) & (B) 81wy
(C) =1f¥ (D) 3%
IAR—(C)

FIRITTT’ Treg § AN’ SuRTET Bl ST + ST = 1T’

e 91 2

HT-111
HYT-2 ENGLISH

61. What kind of adjective is used in the following
sentence?
These mangoes are ripe.
(A) Quantitative
(B) Possessive
(C) Demonstrative
(D) Interrogative
JR—(C)

U T 9t T “These’ Demonstrative Adjective (W

faeryor) § S Plural Noun (I8 ‘mangoes’) @1 31R

EaGId

qre—

O “This’ 3R ‘that’ & WANT Singular Noun (V&Haa
PN ) B T B =l

O ‘These’ 3R ‘those’ &1 TAN Plural Noun (dga==
Pl ¥S) b T A e Bl

O = B & this, that, these, those & Jid 918 A}
Noun &1 G g3l ?f @ I I Demonstrative
Adjective R 3R IfT 3% d 918 Verb Ugwh
3T &1, A1 ¥ W& Demonstrative Pronoun i1l

9O ‘That’ &I Plural (¥ga9) ‘Those’ H|

O “This’ &1 Plural (§ga@) ‘These’ 2l

Example —

Demonstrative Adjective  Demonstrative Pronoun

1. These mangoes are sour. 1. These are mangoes.

2 Demonstrative Adjective ‘this 3% that’ T Noun
P 19 Agreement BT JATTLID gl TP AR Ifa Noun
Singular ?f A SAP FoTT this T that BT TART @71'[ IR,
3 afE Noun Plural &1, a1 9% oY these AT those @
ERINAERIACIC IR

62. Choose the correct word to complete the following
sentence :

He insisted seeing the documents.

(A) on (B) to
(C) in (D) by
TR—(A)

)



rFg & RTh I | Preposition ‘on’ &1 TANT 3fed 3
P U4 Preposition 1 B E e aear v FiREd
foranetl &1 € war fasan Sirar ®1 ared & 9E & ITAR
Verbs & 1€ Prepositions 9&a S B

‘Verb + Preposition + Gerund‘

Note —
Do not use the infinitive with certain words which require

a preposition followed by a gerund or by a verbial noun.

Example —
1. The girls insisted on going out with mark.
. Nick insisted on calling an ambulance.

2
3. She insisted on leaving right away.
4. She asked him to stay but he insisted on leaving.

63. How did Luz Long help Josse Owens?

(A) Luz Long advised Josse to draw a line a few inches

behind the board and aim at making his take off

from there.

(B) Luz Long advised Josse to take rest for a few

minutes.

(C) Luz Long advised Josse to forget that he was

participating in a competition.

(D) Luz Long advised Josse not to accept the Master

Race Theory of Hitler.

ITR—(A)

African-American Jesse Owens won 4 gold medals at the
1936 Olympics in Berlin. No other Olympian had achieved
so much in previous Olympics.

With just one jump remaining, Luz Long, a German long
jumper who was Owens’ toughest competition introduced
himself. Luz Long offered a suggestion to Owens. To play
it safe, make your mark several inches before the take off
board and jump from there. Owens used the advice and

qualified on his last jump.

64. Complete the following :
Man is born, according to H.W. Longfellow,
(A) to die and be buried

(B) to return to dust

(C) to be up and doing
(D) to pray to God
IR—(C)

A Psalm of Life, a lyric of religious emotion was published
in October of 1838. This poem is taken from Henry
Wadsworth Longfellow’s first volume of poems. A ‘Psalm’
is a sacred song, an invocation to mankind to follow the
path of righteousness. In the final stanza of the poem, the
poet asks us to begin at once with courage without thinking
about the consequences of the actions. He asks us to
achieve our aim and learn to work hard and wait patiently
for rewards. ‘to be up and doing’ is described in this final
stanza.

S H.W. Longfellow (Feb. 27, 1807-Mar. 24, 1882)

was an American poet and educator.

65. Complete the following sentence by choosing the
correct option :
No sooner did we go out on the road it began

to rain heavily.

(A) when (B) than
(C) then (D) but
$R—(B)

I & 6 M # ‘than’ & WA ‘agreement of the
verb with its subject’” ¥ i Sfad Bl ardm H No
sooner’ P 1Y Aad ‘than’ &I T ?l?ﬂ % ‘but’ &1 el
Neither & §T€ nor 3Tl % or TTal 3R either F 915 or
AT 8, nor el SU UHR both $ 915 and 374 T, as
well as 721 3R though 91 yet 3Tdl 2, but =gl
Hardly AR Scarcely h 915 when T before 37T g, than
<&l 3R no sooner ¥ 91 than 37T ¥, when =g, S
No sooner did the thief see the police than he ran away.
No sooner did the teacher enter the classroom than the
students stood up.
No sooner did I arrive at the station than the train came.
No sooner did we hear the noise than we rushed to the
stop.
S R e @ aE 9 A ¥ ged A gl
HeH (event) UM TS & gid 919 @ Hfed g8
B, A1 S oIy arer =T “no sooner.......than’

BT gART fhar Sirar B

®)




2 9199 ¥ 9 No sooner &l T URY | & fbar T
g1, Il g9 d19Y P Ia-5hH (word order) Pl SACH
TRINT B_A § AT Auxiliary Verb (8@ fohan) @
AN subject &% g4 &7 B

66. The correct feminine of ‘ram’ is

(A) sita (B) toe
(C) ewe (D) filly
JaR—~(C)

Noun ‘ram’ (¥S1) @1 Feminine Gender (o) ‘ewe’
(1) = R

67. Complete the following sentence with the correct

option :
is the best story.
(A) Yours (B) Your
(C) Yours’ (D) Your’s
BTAR—(A)

arFg &% R<h %I H Possessive Pronoun “Yours® &l AT

Sfera gl

Possessive Adjectives (my, our, your, its, her 31X their)

Possessive Pronouns & &, Sl Adjective &I B o<l gl

9§ Possessive Pronouns hHeI: ¥— mine, ours, yours,

hers 3T theirs. f17% B % Possessive Adjective, Noun &

Ugel 3T §, U Possessive Pronoun, Verb & 1§ T<H

[ERIRCICIS

Note —

S ‘His’ & T3 Noun & Ugel 81 H&dT 8 3R Verb
& 91g Ht, FifF T8 Possessive Pronoun ® AR
Possessive Adjective i) SR

This is his book. The book is his.

2 Possessive Pronoun @1 ac+l (spellings) TR €99
T BT ITIHAT —its (it’s &), ours (our’s &),
yours (your’s ¥&l), hers 3R theirs (her’s 3%
their’s =gl

68. Identify the correct reported form of the given
sentence :
Ravi said to his friend, ‘Work hard.’
(A) Ravi said to his friend you must work hard.

(B) Ravi asked his friend that he must work hard.

(C) Ravi advised his friend to work hard.
(D) Ravi ordered his friend to work hard.
BIR—(C)

f&ar a1 9199 (Direct Speech) Imperative Sentence Bl
o § 1 <19 5= ararr < 31TsAT (order), URTHE (advice)
IT WA (request) TS BIdT &1, A1 98 Imperative Sentence
HEATdT &l $HH subject (Wal) ‘you U Igar ¥ A
I Finite Verb I URY gIar B

1. Reporting verb ‘said” &I H1d & 3R g9 YR EELCK|
T

‘order’ @1 ordered, commanded 3Tfe

‘advice’ @I advised, urged H

‘request’ Bl requested, begged 31 I

2. Reported Speech % verb b U ‘to’ SISHY Infinitive
T 2 T A

Direct Speech —He said to his friend, ‘work hard’.

Indirect Speech—He advised his friend to work hard.

31d: fawea (C) H wRgd 919 Y& &l

Ravi advised his friend to work hard.

69. Choose the correct figures of speech in the following
sentence :
Her mother too upon this occasion felt a pleasing
distress.
(A) Personification
(B) Oxymoron
(C) Hyperbole
(D) Simile
3JIR—(B)

Here we have a sharp contrast between an adjective and its
noun, or between an adverb and the adjective it modifies; as
‘Her mother, too, upon this occasion felt a pleasing
distress’.

‘Thus idly busy rolls their world away.’ so, the correct

answer is option (B).

70. Choose the word opposite in the meaning to the
given word :
‘FRAILTY’

(A) Emanciation (B) Strength

)



(C) Health (D) Boldness

IaR—(B)

qF | TYH AR ‘effect’ F WM W ‘affect’ (I97G
ST) BT T Sfd B

¥ “Frailty’ (], Fdaar, daeiR), wRar) & faddaes
31 “Strength’ (¥RH, FIEH, 1) R

71. Didactic poetry means :
(A) poetry which inspires
(B) poetry which pleases
(C) poetry which teaches
(D) poetry which informs
FIR—(C)

Didactic poetry is that teaches some moral lesson, as

Pope’s Essay on Man. (Greek, didasko I teach.)
Poetry that instructs or teaches, either in terms of morals

or by providing knowledge of philosophy, religion, arts,

science, or skills.

72. Fill in the blank with the suitable form of verb :

Either Munni or Chunni lost her pen.

(A) has (B) have
(C) had (D) will have
IWR(A)

19T & R<h w9 # Singular Verb ‘has’ & ‘had’ G141 &1
T S %I g % & afe or, nor, either.....or I1
neither......nor % gIRT &1 AT & & 31D Singular Nouns
T Third Person &% Singular Pronouns P 3T (separate)
fopam Y, a Singular Verb &1 TN T ST %; MR-
Either rain or storm is to come.

Neither he nor she is to come.

UPTET & \fSd SR 0576 & 39 U3 & U 3 3ifdia
(fapea A Td C ) e SR &y 71y &

73. Point out the word that has been wrongly used in
this sentence :
If you lose your passport in a foreign country it will

effect you badly.

(A) lose (B) effect
(C) badly (D) foreign
JIR—(B)

74. Poetry teaching should be basically a process of

(A) sadness (B) joy
(©) cry (D) anger
IR—(B)

Poetry teaching should be basically a process of joy.

75. What are the two productive skills?
(A) Listening—Reading
(B) Speaking—Writing
(C) Reading—Writing
(D) Listening—Speaking
SuR—(B)

The productive skills are speaking and writing because
learners doing these need to produce language. They are
also known as active skills. They can be compared with

the receptive skills of listening and reading.

Example — Learners have already spent time practising
receptive skills with a shape poem, by listening to it and
reading it. They now move on to productive skills by

group writing their own, based on the example.

76. Linguistics is a study of
(A) Direct Method
(B) Grammar Translation Method
(C) Sounds
(D) Human Language
SuR—~(D)

The word ‘Linguistics’ is derived from the Latin word
‘lingua’ (tongue) and ‘istics’ (knowledge or science). Earlier,
the study of language had been identified as Philology.

According to Robins;

‘Linguistics is concerned with human language as a
universal and recognizable part of the human behaviour
and of the human faculties perhaps one of the most
essential to human life as we know it and one of the most
far reaching of human capabilities in relation to the whole

span of mankind’s achievements.’

(10)



Human language, that unique characteristics of our species,
has been of interest throughout history. The scientific

study of human language is called linguistics. A linguist is

a scientist who investigates human language in all its facets,

its structure, its use, its history, its place in society.

77. Dyslexia is associated mainly with difficulties in
(A) reading (B) speaking
(C) listening (D) writing

JAR—(A)

fSifdRTar TMe FRfdeN I IRd AP BT 3F&TRT 3ferar quif
P U § HSTS Bl Bl 31 AP (A) T SR B

78. The purpose of ‘rapid reading’ is
(A) for interest
(B) for specific detail
(C) extended reading
(D) seeking information

TIR—(B)

The purpose of ‘rapid reading’ is for specific detail.

79. What does the Ganges symbolize, according to
Jawaharlal Nehru?
(A) It is a symbol of India’s prosperity.
(B) It is a symbol of India’s age long culture and
civilization.
(C) Itis a symbol of changing seasons of India.
(D) Itis a symbol of India’s struggle for freedom.
JR—(B)

SATERATE g% & AJAR, M, IR B FTADRI (age
long) |FPN (culture) Td TR (civilization) &1 Teia Bl

80. What damaged the crop in Lencho’s field?
(A) Wild animals (B) Flood
(C) Drought (D) Hailstones
JR—(D)

Actually, Lencho was hoping for rains so that his crops
give a better yield. The rain does come but is followed by
a devastating hailstones destroys all the standing crops
and leaves Lencho staring into the black future ahead. So it
is proved that it was the hailstones that damaged the crop

in Lencho’s field.

81. What does Lorenzo order when he learns that Portia
is on her way to Belmont?
(A) A banquet to welcome the lady of the house
(B) Music
(C) A ring to match the one she once gave to Bassanio
(D) Flowers

SaR—~(B)

Lorenzo order music when he come to know about the

arrival of Portia to her home Belmont.

82. In court how does Antonio react to Shylock’s

insistence on collecting his pound of flesh?

(A) He weeps openly.

(B) He vows that he will meet Shylock’s hatred with
patience.

(C) He curses Shylock’s vengeance.

(D) He makes an impassioned plea to the court to
intervene on his behalf.

TIR—(B)

The trial of Antonio in a Venetian Court of Justice begins.
The Duke of Venice warns Antonio, the defendant, that the
plaintiff (Shylock) is ‘a story adversary.....uncapable of
pity....... [and] void..... of mercy’. Antonio declares that he
will meet Shylock’ is hatred with patience. He declares that

he is ready to suffer quietly. He knows that ‘no lawful

means’ can save him now.

83. According to Lorenzo’s plan, how will Jessica escape
from her father’s house?
(A) She will disguise herself as Lorenzo’s torch bearer
and slip out undetected.
(B) She will leave during the night while Shylock is
asleep.
(C) She will take her father to a large public auction and
get lost in the crowd.
(D) She will fake her own death.
SUR—~(A)

On a street in a Venice, Gratiano Lorenzo, Salarino, and
Solanio discuss the plan to unite Lorenzo with Jessica.

Gratiano frets that they are not well prepared, but Lorenzo

assures the men that they have enough time to gather the

(11)



necessary disguises and torch bearers. As they talk,
Launcelot enters bearing Jessica’s letter. Lorenzo recognizes
the writing. He bids Launcelot to return to Shylock’s house
in order to assure Jessica, secretly, that Lorenzo will not
let her down. Launcelot departs, and Lorenzo orders his
friends to prepare for the night’s festivities. Lorenzo relates
to Grantiano that Jessica will escape from Shylock’s house
by disguising herself as Lorenzo’s torch bearer so that she

will slip out undetected.

84. How does Shylock initially describe his demand
for a pound of flesh to Bassanio and Antonio?
(A) As an opportunity for revenge
(B) As his way of being charitable
(C) As a harmless prank
(D) As a means of generating friendship

IR—(C)

Shylock initially describes his demand for a pound of flesh

to Bassanio and Antonio as a harmless prank; Here, Shylock

acts like it’s all good fun (‘merry sport’), but later her ends
up demanding his bond in a big courtroom showdown.....and

nobody’s laughing.

85. What reason does Antonio give for being sad in the
opening scene of the play?
(A) He stands to lose a fortune in his present business
ventures.
(B) He owes a fantastic sum of money to Shylock.
(C) He gives no reason.
(D) The woman he loves does not return his feelings.

IR—(C)

Antonio, a merchant, is in a melancholic state of mind and

unable to find a reason for his depression.

86. Whom does Bassanio agree to bring with him to
Belmont?
(A) Old Gobbo
(C) Antonio
SIR—(B)

(B) Gratiano
(D) Jessica

Grantiano arrives and tells Bassanio that he wants to join
him on the trip to Belmont, where Bassanio’s plans to go

and woo Portia. Bassanio feels that Gratiano is too loud

and rude and asks him if he will be able to act more
appropriately. Grantiano says that he can, and that he will
‘put on a sober habit’. Bassanio then agrees to take him to

Belmont.

87. Point out the error in the following incorrect sentence

I can learn poems more easy than speeches.
(A) Ican (B) learn poems
(C) more easy

FAR—(C)

(D) than speeches

araaier (C) Ffeqol 21 =i ‘more easy’ & IH TR Adverb,
more easily’ & TN 3T B

88. Point out the sentence in the active voice.
(A) Why don’t you have your eyes tested?
(B) This notice has been altered.
(C) Boys could not have done all this damage.
(D) Steps had been cut in the ice by previous climbers.

FAR—(C)

a%we (C) | f&am T/ 1 a1 Active Voice # Rl
Boys could not have done all this damage.

3 fawed (C) w8l ST B

89. Point out the correct word to bring out the meaning
in the sentence :
Women have always dressed to
(A) disfigure (B) show
(C) exhibit
JAR—(D)

figure flaws.

(D) camouflage

rFg & R<h ¥ H Verb ‘Camouflage’ (B &R0 A
fourT) @1 TR S R

90. Point out the correct indirect speech of the sentence.
‘Would you like to come with us?’ they said.
(A) They asked me to go with them.
(B) They asked me if I would like to come with them.
(C) They invited me to go with them.
(D) They told me to come with them.

IR—(B)

famed (B) ® affiad arw Indirect Speech & -

They asked me if I would like to come with them.
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YRI-I11
Y2 A

61. ‘AR’ B ‘UBR’ A AN PN TN R IR g g ?
(A) PR B % 8 S 2
(B) HHR B AHR B ST Bl
(C) FBR B FAHR g Sl B
(D) 9HR &I fa=t 81 <7 =l
FIR—(B)

¥g@ A (AT ¥9:)-9d GPR AT I APR AT
‘' g P AN H ST B, A HhR 3N ‘T’ 9 H N R
PHHYT: IHR AR ‘I’ 9 B AT B

R + I = eRw
aq + faq = wfaq
62. ‘yOyd:'-3€ GUW U< Bl fIg -
(A) gd ¥ (B) 9d ¥
(C) gde a: (D) qaie 3
IAR—~(B)

Faa-Aa—(9 = fade-wsn-fafige: $aa aus: wom:)
et faeiy < 9 *fga 99 € Fad 9H Fel S gl
'dqd: -39 WA U 1 faug ‘qd ya:’ gl g ueR
arreli g9 = arifaal

63. ‘g Je fte:’ a1 § g’ we Al 3

(A) Tar (B) waH
(C) =rgedt (D) wTHt
IAR—(C)

waaAE MAwE-—5g aig 991 ¥g F qAE af aref
eTgell & AT | TR BN ATl TR HEeTdl g

T = uRe—gR @1 wRe el o reh

ARe A TR B arel ‘gR 8, ey g # aqell fanie
gl

64. ufemr AT A PR AuRs o 32

(A) W (B) =geft
(C) T (D) =T
TAR—(A)

faufeeriferguRamaa=am vem-verd fAvRke &1 TR
ol (mfrafee sravern #) weg &1 31ef gqam & forg srerar
Fadt forg qaem & forg srerar gRmmeT srrar g9 g
¥ forg fopar iram B-

Faa gRA0 A0 AR (07 W TEd) HiR: T8
T fawRh & TReT St eneRik &1 gRemT fRAfgd g
B T maat? SnmeaN drad-g49 aref & forw ggl v
fawfp gsl

65. AT TNR wWwi wafdl a1 F I@fFa e A 5w

PND -

(A) T (B) &Y

(C) 9 (D) 3furar
IR—(B)

AIHT FIPRUARIII-TT B3 Al Rifg # wal Dreen
RS A gara AuRe g 2 s9e g 9, qen’, ‘s
ERI’ Bl gl

AP TR AR MafR-amaE  IRR @R gl gl
I | S @ fafg Bkl B, safay s # g
fawfp gsl

(A) T (B) I9®
(C) sigura (D) Sk
JIR—(B)

a1} A=t auiEt 1 g il (wreamTe)
wel geretan: waRicEd:|
YT aarg A fafrrerll (Arfgeedon)
- areif arel wnele waR s a6 S wE
H 3Mgfy 89 TR TG AAPR BT Bl TG IABR F
SEIENT H-
(F) FE I T8 WLF B Bl
(=) wEl T us FRef® B gl
(1) IR B U ug e Bar @ SR Frefsl
TATATIIATEE IR FHEIRTTIRITIIdEor |
g AT hacd g I FAAN:|
(@) L QFI U AP 7, ST-TAT-TeITel 1 A
BNEG(
TR SF1 W Wl b A aef e =

U, TR = g faei| Ry = grted, gRIY =

ERRle s
(@) & < T PRefe SR YRR
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() BE TH g WP ¥, A Ug FReD| SRI-
FAr-oldT H GERT oAl ¥R B e B
U T’ W APR Ygel Wl P S 7l S
THR ' TRFFIRE 3 918 arell IRT UE IR B
3fer B W fref® R

(9) STIH w=i B AgRT TP o HH A g

67. ‘TN’ U< o1 fawle wd amm -

(A) TGt yebaa (B) T Uaa
(C) AwH! gebaa (D) el gaes
TFR—(A)

T: WRAEERASEaySanTed 79, Wi, T, W,
3re, T 99 Tl & AT # agelt vl i 3
TH SNHA T8 ool B TRGR

wq Py fergy waty = fawkey)
Ty = Y I A7 deeaHqll
AEI: AN 4 3 dTel $B 3 7 5
SIGECK|

EEEECISIEC!

SRR

H1-Ad

TH-Feaa

¥q:-e (AT arel)

STAI-319

Fqarfa-ard

GG

RF-Pl AR

AT

68. ‘BRI T’ A B I fFat Fads argy §?

(A) 16 (B) 14
(©) 13 (D) 10
TAR—(A)

"B TG B A 16 fgamHa arge B

SRS BRIEUEENIRS (S LD G EIG]

FHYDH WD qN WTgPpsaegr|

1. 8 (gg), 2. Irg (AT, 3. o (Ur), 4. TS (S
3, 5. % (1), 6. w2 (qoH), 7. 1 (F0), 8. 8
(@rer), 9. o (I &), 10, R (Siee), 11, 99
(@), 12. {9 (S70), 13. 1 (I <), 14. § (80
HRAT), 15, PY (Sa), 16. ag (@)l
Tg@d a1qu (16)— 12. (58 9 <R 95 W) 12 &rqu 1S &4
4 (1 Py aR) 4 grgy 9= B

69. 'HHRI AY-IGUURA GRIBRUM TR I NS’

(A) GV (B) TR
(C) aTIHH (D) Fwfa
FIR-(D)

3T YA IE B Dgd & oD ©F A B [ABR 7 a1
B, St a1 -1 <RI forda wd 7 81 srid forg fawfie,
I & TR HC-9¢ el dal I gl AT IR TBR F
B B-1. Sui22

2. fora oo

3. 9= qIEd AR

4. FAAPR GaH

70. ‘SR’ S’ o] @ w9 BT 3
(A) ICABR, UIFYSY, Thaa §
(B) ISP, UAHYHY, Uhddd A

(C) AICA®R, HIHYDY, Tdhad

(D) JTAPR, IAAYSY, Thaa
FIR—(C)

P Y gl S FeEYSy fgadd, (Sa’ AegHyy

dIc APR dggad Bl wY gl ST ACABR TLHDY

UHad H, ‘MR AeddR Yo JoY UHadd A 2

71. T ¥ SHEfoe R @ifda a9 F forg g
T arel I -

(A) & (B) T4
(©) 7 (D) =1q
FaR—(D)

a1 # adAaferes FMRawar @lfid &= & forg o T @t

TANT {5 I Bl e AR ATan ARG O A A —
59 312 P 9 IR S forg 91q (317 @R 2 (o) J7=A B
e, W A SR T B O JeeR 99 91g
R GRd F1a & i o I IR w9 | R B

W TES-ag S gaT gl AT a8 S I B

72. ‘WU YM: GEEQ, A1 B AreG-URad BRE U a9l
-Eﬁ-m_
(A) 378 YM: geIH
(B) g ¥ gzt
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(C) 318 v <effy
(D) 71 I weaifi
SIR—(B)

SfYTRP AT HAT P ThSIHRUT Pl e B I’ B oo
WEpd | 9T T IRE B 8K B—(A) Bjare, (B) wHaT
Td (C) wragre]
Fara-3 AT § wal W g § @ B adi ®
IR TYh B R 39 bl # vy ks qen wd #
fereftan fawfp €rft R
'\’T‘:[:jgt[wmi%[
318 Y geaTH
FHHATA-HHAT H FHH D LT Bl gl 37: BH H T
Ter i ¥ it fanfRe @ e g 1 e G @
TRINT P4 &b STAR BT 2l

AT TEH TR

o o g
WIGareg-ATgared & &l A garan favRe & wae g 2l
qrqarea § fopar o1 aref a1 919 & v 2in v, fopar wem
oY Uhaa A 8l A1 9gaad 4l
BET: gaf~I-dqgars

B gRIN-I1IaT

73. Y @ | S g IR & Igare gl
(A) 32 qg aa1fH
(B) 3€ g9 d&fd
(C) 31 e afesafy
(D) 318 HT =T
$R—(D)

W g W drear g 9199 H GG A IaTs arT-
SR ICHIET
74. HpA-BIA-RIEU B ST Y 3-BE B
(A) TR R
(B) 711, A, 91 U9 919 & JITAR TAH-TS BRA Bl
&l & fae™T ool
(C) Tig veR # gfg a=l
(D) ST & SerT Aral &1 e a=eIl
JR—(C)

HEPHa-HI-R1e0T F Iee T - Wk ¥ gfg F=1l

1S HR1 B &A1 BT AP BT, Bfaar & ST H1al @

B AT SABR BT A BRI, BIA D WG B I
TG UIcdTied &A1 e Wpa dra R & Iewd &
SESUCACIR]

75. e e § fFae fadw aga = R

(A) 3TIHROT qTa I

(B) faar fageiyor o1

(C) wifeg farv &1

(D) <TIgh &R araT &l

IaR~(D)

TTer Rieror ¥ gg arem 91 AFAan UG BT, W & ufd

IS SR &_AT, ST@HR0T e Hel, 3T 3TRTE-
G G AR S Rak: i = e 2 B e B e £ e | i B e e
YST HRA1 T T Ured GRSl A FfRd e @A,
AR difge T aifdhe wiks & rgwu g @Ryl

76. TP B TH-UP US B A W wd W, BN
JoTTell 1 Ead g7
(A) =T UTTel! &l
(B) gert HTTed! &1
(C) FieT JoTel! &l
(D) *1d Ud F1ST HOTTel! @l
SAR—~(A)

T YTl H 3T W8 B H Yol Bl AN ara-
PRI A 2 AR THYH g8 P 3 gAY U
F] Bl

77. WEpa W1 H wgEl e FRa w Riee @ g9
aiRe-
(A) oz a1 g@ier & w9
(B) ardtema &
(C) BTo-WTa Uge o
(D) J&I TN |
JTR—(D)

Aepd w1 H Fer Rieror axa wwa Res B geas
TN | 991 ARyl Wpd AN § FEE g 9 gd
R1e1® & BEr & ST ae e Ay @ Mo sEl
P IRAAT IHY B AT AMRY; S a1 qE@ier &
TR 9, ATielTd o eI g19-91d Ueee sl
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78. ‘wolvl B’ fRem-afonm wrEnh 3

(A) FI-51 (B) =1
©) 3= (D) T ¥ IS el
TAR(C)

AT & IR UG ATHH B 9 w979 et -
R it 1 TAT BT B, 98 ' Ied ATHH)’ BErd
B Tole e’ @1 Ay fa@m arel F1S 9 Bl 9 Rigrd
Pl B! UIS P ITeAD] DI FH H SI-01 3111 gl fwedt
ff e @ Rl g1 BERT @ W ¥ fog ‘g’
Reror ST At @ TN FRA §, S-wamug, 3,
SN, IRdfdd wU, ufawy RE moidey, g, e,

Telld, T 3| g @ &F At ff dEd B
79. ‘eeent g&r’ H1 quia fw IR1 ¥ wr grem 37

(A) TgdRH (B) faerar-aq
(C) RraxmIfIsTaq (D) BIEwsT
FIR—(D)

‘2Tl g&1’ T quie aTo7 §IRT Uofid ‘il I721 H U
RIS

80. I B S A ron fIelia 7 fFa %W &6 ansm
H M-Jar A ?

(A) FTeIY (B) a1fx
(C) afirss (D) faearfa=
FAR—(C)

Fiferard gRT faxfad gde 99 Wgpd At H S

TR gl Bagergs o I JgaeH § 79 9
) gAaeh 31 <remsii & Sfie @ aviE R seargasht
AEHam! I faeiu, ¥g, o, S¥RY AR M F Siad
1 faerg vd fawga aof 21 <o e gEmfia & forg
PTS ARG P MMAMTIHAR HHe B G AfE B Far
IS &b s H B ol

82. ‘WIHR' F ITAR T F e §-

(A) JII8 (B) <9
(C) ur= (D) IR
TIR—(B)

AT & ITAR, T & T4 FET | FA g P HaR
% foel) Y enfies qrae o ei-eted & g+ gax g
TE e R Ay g8 v arel et gy R
TR AN SR Bl AfAIfIS AT B
agEIfa 7 g @ aRwr-

gy & THISKI AratAtsatoeg:|

eifdgan AwmIel e gq Ferom||

s &, e, w9 wR v, @R T @R, w9 aad
o HH ¥ a1, st w FRE, uRE @ e e,

& FM U G, §F 9], Pl AR SRR § W
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HR Y& Bl T IS BT o RO AfAd TS & G
W ol Bl TaTg &l
134. ffoRRea $eomi § A D=1 <EATH WAEaRog ggEu
S Bl B?

(A) SISt (B) UgieT
(C) TTIERINI (D) P
R—(C)

gEgoM 389 <A gafaRoiy Uy S dRdl gl
TSI SUF % Tg P Helegny T JeUTe P W § STel
3R w1 Y Tt Bl ® RoreTet gerdsoT R S wear B

135. GPHCIRA S SATPR TiST IR AT B

(A) sitegforn 4 (B) 9Ra |
(C) 99 § (D) sToie #
FT—(C)

IATHR URET (Giant Panda) o w4 | I & gfaofi-
Tf¥EH) 9T § U 9 B S, S, . (World wild life
fund) ERT SR 4909 SFsSi & ATAR, TTH o
AT 1864 Bl a9 W 39 AHST (endangered) SITHART
& A W g AfiaeTie (Vulnerable) STHaRT @t
A ¥ enfie foar T R

136. FrafaRma f&a ¥ & srRu e T FRd g7
(A) FARI-FEART BIE
(B) ®re STgiiags
(OEIMICIESIES
(D) fHersa AR

FR~(D)

3 fRder, 1984 @ Wiure Red gfew wefgs e
fafies & Pleaee T o Rgd sresaa-e 3 &
Rma & wRo1 Aure T T g8 ol

137. fa 2= A w1 gR il § w9 S R?

(A) ST (B) 9Rd
(C) sifegfera (D) 3R
FR—(C)

siregforan fig AerrR @R <férft vera werrR & 9=
Rerd Us #REY 2l I8 ASlE™ gl & gl Marg H
TSdl B, SAfo 98l @ gy SR Mol H e arell
g3l ¥ Ic B ol Afgferar # fidaR I wRad db

T B A vEd R, A F 7 TS Iq;HS P, T @
I T el 3R Ricday @ Fdav 9% a9al gfe dar
J wRaS) I& TH B AEH gl ¢ g4ty e @
R A T § g

138. ‘fiR T <ilg sgRw’ A= 4 9 fbw 9= <T@
JREUl BT §?

(A) g1h (B) w9
(C) =T (D) ¥R
SR—~(D)

R a7 <79 IRIRvY J& ©U | AR &b GRET A Al
Bl I8 wRvy o 4§ Rerd gl I8l fafv= shai &t
SRTYRT 2375 UoTfaai urs Sl 2

139. 9 AR’ Wi 3-

(A) T[T 99T & (B) a1g T H
(C) &@fs ugyoT |4 (D) STel TgHIT
FR(C)

A9 Wk 1 | eafy gEeT 9 Bl 39 faid U9 &
STt ety aguer @ fiwar Bt ®, 98T U &Y S ¥
R 6 eafy ogwor el & 79Ifad 7wl

140. yaRRefdaa &3 § ot o1 wgagel -

(A) 8 (B) gt ®
(C) T 3 (D) YFH =
TA—(A)

FaRRafe T3 A o1l & Ag@ye! v 9d Bl gt R
T B aTell ST G971 Joford] (Siefaryg womed, wiRRerfie
= anfe) @ Sotl Bl A G B gl G D Sl B
e Herad o fmn ® R orcafde wmEn 9 ot
[REERIRERI]

141. 9 & @ -0 Tolie Tl TowReNE e §
18 o 2 ?

(A) W (B) %acH
(C) W (D) e+
II—(B)

Pacd o wia wveeld TeEl A urs ot §, Sefd
TR &7 SR Iui 9 &l H, BRI siedea
&3 H T Ie Swrhfede iy yuiRlt 99 #§ uTs S R
142. TIgeH f&a U &1 wHfas Suug §°7

(A) a0 (B) ¢
(©) = (D) IP
JR—(C)

N ARASd & AT FI 91 SUTE Bl b SUHRI
@ 62 Bl <rsed v & wed 991 SuIR 7, uf &
EGNIESIESEE RO
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143. fefafa 3 A PN TA-<Sord B wad 2?

(A) PuTd (B) STl
(C) = (D) 3T
ITR—(B)

oI fadmed | | STEIw, qrRI-Sield & TP Had
TGN g Teul @l Teifa @l Wiem R S g@
famrereT @il & ufd ufoRlgs B I8 W 99 Sae
PRl g FORTH 27-40 Uferd 9% o BiaT gl ST & el
B SISl SO § TANT 3G IA-Soret H uRRafia ww
ST B

144. wataRw e At fFa ad wika gan en?

(A) 1982 (B) 1986
(C) 1992 (D) 1996
SaR—(B)

TATGROT HReToT ST 9y 1986 W Ui gaim o1l $9d d'd
TATGROT ERETVT T SH YR M Bg WEE Y 0l a
1972 % WiFHeM H HI A4 TATaR0T TR HYh T B4
H HIq 9AER0T $ ARETT 7Y SfId HeH Sor 1 Fow form
T A1 WRA 7 W S Hihd H w9 foran el

145. Y-S AU9 F1 BRU 3
(A) femrial & afg
(B) F1d+ STeeifarse # gfg
(C) B STRiTaATgS H Bl
(D) ot 7 g

JIR~(B)

YHSI a9 (Global Warming) &1 W HRO diF
el 1 (I B STSiTRITSS, A, STerdry, A1ge
JMFAES MR FAR-FART HIEF) & W gfg B9 =l

(ot favgerdt Swrar & forg fafey 99 gsw T4 @&
Aafe ANTET)

146. fR=fafaa ¥ 9 fFad waifae So-fafduga o o 32
(A) AT quigreh a9 9raH
(B) SWTGH{cdEg WETaRR 81 a9 qraH
(C) =™ arF e 9|
ORERIERIE
Sav—(B)

aitre wig fafaerar Swisleafia weegR avt a9 9 |
T SR B U8 fayad N & - b & a1 S
&1 H T ST §, et anffas auf 200 . A 31w g
B 39 91 | Ye-uiel, Sai, fér, |l anfe @t
waifdre wonfergt arg o

147. 7/ A ¥ 59 ga1 &1 AEfo s gRT g B2

(A) @rer fAg! (B) wreh frg
(C) Sare e (D) oieRTge
JER~(B)

Frent gl @1 fFrafor st fawme 9 Fea e 9@
T ggM1 | BT Bl <96 a1 ISR ¥ AT 9 smesifad
2 T IR P o F' o R sEeE IR JeRm,

TERT, Frlcd, dfierrs fe s 7 R

148. agASA P PA-H IRA TS B GRIFH! fHRon B

g P Wag UX A W A 2

(A) F9AM ASe (B) &Y Hed

(C) Jmad Hed (D) 79 Hedl
TAI—(A)

IS 6 FHATTHEd TRd # Rerd NSl g a1 uRTE
ROl I gedl ot g TR I A ahch! Bl FHATY HS A A
EEINEEIRCA S IEAS IS RSECIS SNSRI |
w9 A 15 9 35 fF0. B S aF 91 @ 2l

149. TN I WH B o b1 St AEfofa 3 3 fha

U §G R?

(A) ST B ToTaRT (B) TS BT I

(C) ST @I wgRan (D) ST & dqMIHH
TAR—~(A)

T Qe WA (Ganga Action Plan) &1 53ITd 14 SR,
1986 1 dchlol= ULTHAT Toig el gRT &l s 2|
DT I UGYYT DI FATG HRAT, STel DI JoTa H GER
HRAT, BN, JURME STl BT NG BT 37 21|

150. Frafafea & dF-w1 381 Sfde S 1 SaRs
??

(A) - (B) 2@_RR
(C) s (D) 3l
TAR(A)

SIfads HleTersd TIpiad Al S-STaRi, e, Sharvgai
vd g FRTd mer & @Sl @ agrad | Sarfed fag
S ATl BT &1 A FHd Sia-sigell U garaveT &
forg Sifaw dHerers gveRS T8 B 8 9 & g1 @
STINT SAfdeh BHIeTIdh & Sared | fhan < <er 2l
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